
Chapter 6  Section 6.3 Adding and Subtracting  Rational Expressions 
Rational Expressions                                     and Equations 

Assignment  p. 336 # 1 – 7, 9, 10, 13, 15, 18, 23  Quiz Next Day! 

 

Name: ___________________________          Date: _________________________  

Learning Goal 6.1 
Simplifying and applying operations to rational 
expressions, identifying any non‐permissible values. 

 

Simplify and state the non‐permissible values. 

a. 𝑚
𝑛
െ
𝑚 ൅ 1
𝑛

 

ൌ
𝑚 െ ሺ𝑚 ൅ 1ሻ

𝑛
 

ൌ
𝑚 െ𝑚 െ 1

𝑛
 

ൌ െ
1
𝑛
 

Non‐Permissible 

Values: 

𝑛 ് 0 

b. 10𝑚 െ 1
4𝑚 െ 3

െ
8 െ 2𝑚
4𝑚 െ 3

 

ൌ
10𝑚 െ 1 െ ሺ8 െ 2𝑚ሻ

4𝑚 െ 3
 

ൌ
10𝑚 െ 1 െ 8 ൅ 2𝑚

4𝑚 െ 3
 

ൌ
12𝑚 െ 9
4𝑚 െ 3

 

ൌ
3ሺ4𝑚 െ 3ሻ
4𝑚 െ 3

 

ൌ 3 
 

Non‐Permissible Values: 

4𝑚 െ 3 ് 0 
4𝑚 ് 3 

𝑚 ്
3
4
 

c. 2𝑥ଶ െ 𝑥
𝑥ଶ െ 2𝑥 െ 3

൅
3 െ 6𝑥

𝑥ଶ െ 2𝑥 െ 3
െ

െ3
𝑥ଶ െ 2𝑥 െ 3

 

 

Non‐Permissible Values: 

𝑥ଶ െ 2𝑥 െ 3 ് 0 
ሺ𝑥 െ 2ሻሺ𝑥 ൅ 1ሻ ് 0 

d. 4
𝑝ଶ െ 1

൅
3

𝑝 ൅ 1
 

 

Non‐Permissible Values: 

𝑝ଶ െ 1 ് 0 
ሺ𝑝 ൅ 1ሻሺ𝑝 െ 1ሻ ് 0 

 

 

 

 

𝑝 ൅ 1 ് 0 
𝑝 ് െ1 

𝑥 െ 2 ് 0 
𝑥 ് 2 

𝑥 ൅ 1 ് 0 
𝑥 ് െ1 

𝑝 ൅ 1 ് 0 
𝑝 ് െ1 

𝑝 െ 1 ് 0 
𝑝 ് 1 

 

 

ൌ
2𝑥ଶ െ 𝑥

ሺ𝑥 െ 2ሻሺ𝑥 ൅ 1ሻ
൅

3 െ 6𝑥
ሺ𝑥 െ 2ሻሺ𝑥 ൅ 1ሻ

െ
െ3

ሺ𝑥 െ 2ሻሺ𝑥 ൅ 1ሻ
 

ൌ
2𝑥ଶ െ 𝑥 ൅ ሺ3 െ 6𝑥ሻ െ ሺെ3ሻ

ሺ𝑥 െ 3ሻሺ𝑥 ൅ 1ሻ
 

ൌ
2𝑥ଶ െ 𝑥 ൅ 3 െ 6𝑥 ൅ 3

ሺ𝑥 െ 3ሻሺ𝑥 ൅ 1ሻ
 

ൌ
2𝑥ଶ െ 7𝑥 ൅ 6
ሺ𝑥 െ 3ሻሺ𝑥 ൅ 1ሻ

 

ൌ
ሺ2𝑥 െ 3ሻሺ𝑥 െ 2ሻ
ሺ𝑥 െ 3ሻሺ𝑥 ൅ 1ሻ

 

 

 

ൌ
4

ሺ𝑝 ൅ 1ሻሺ𝑝 െ 1ሻ
൅

3
𝑝 ൅ 1

 

ൌ
4

ሺ𝑝 ൅ 1ሻሺ𝑝 െ 1ሻ
൅

3ሺ𝑝 െ 1ሻ
ሺ𝑝 ൅ 1ሻሺ𝑝 െ 1ሻ

 

ൌ
4

ሺ𝑝 ൅ 1ሻሺ𝑝 െ 1ሻ
൅

3𝑝 െ 3
ሺ𝑝 ൅ 1ሻሺ𝑝 െ 1ሻ

 

ൌ
4 ൅ ሺ3𝑝 െ 3ሻ
ሺ𝑝 ൅ 1ሻሺ𝑝 െ 1ሻ

 

ൌ
3𝑝 ൅ 1

ሺ𝑝 ൅ 1ሻሺ𝑝 െ 1ሻ
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e. 𝑥 െ 1
𝑥ଶ ൅ 𝑥 െ 6

െ
𝑥 െ 2

𝑥ଶ ൅ 4𝑥 ൅ 3
 

 

Non‐Permissible Values: 

  f. 2 ൅ 4 𝑥ൗ

𝑥 െ 4 𝑥ൗ
 

Non‐Permissible Values: 

 

𝑥ଶ ൅ 𝑥 െ 6 ് 0 
ሺ𝑥 ൅ 3ሻሺ𝑥 െ 2ሻ ് 0 

𝑥ଶ ൅ 4𝑥 ൅ 3 ് 0 
ሺ𝑥 ൅ 1ሻሺ𝑥 ൅ 3ሻ ് 0 

𝑥 ് 0 
 

𝑥 െ 4 𝑥ൗ ് 0 
𝑥ଶ െ 4
𝑥

് 0 

ሺ𝑥 ൅ 4ሻሺ𝑥 െ 4ሻ

𝑥
് 0 

𝑥 ൅ 3 ് 0 
𝑥 ് െ3 

𝑥 െ 2 ് 0 
𝑥 ് 2 

𝑥 ൅ 1 ് 0 
𝑥 ് െ1 

𝑥 ൅ 3 ് 0 
𝑥 ് െ3 

  𝑥 ൅ 4 ് 0 
𝑥 ് െ4 

𝑥 െ 4 ് 0 
𝑥 ് 4 

ൌ
𝑥 െ 1

ሺ𝑥 ൅ 3ሻሺ𝑥 െ 2ሻ
െ

𝑥 െ 2
ሺ𝑥 ൅ 1ሻሺ𝑥 ൅ 3ሻ

 

ൌ
ሺ𝑥 െ 1ሻሺ𝑥 ൅ 1ሻ

ሺ𝑥 ൅ 3ሻሺ𝑥 െ 2ሻሺ𝑥 ൅ 1ሻ

െ
ሺ𝑥 െ 2ሻሺ𝑥 െ 2ሻ

ሺ𝑥 ൅ 1ሻሺ𝑥 ൅ 3ሻሺ𝑥 െ 2ሻ
 

ൌ
𝑥ଶ െ 1

ሺ𝑥 ൅ 3ሻሺ𝑥 െ 2ሻሺ𝑥 ൅ 1ሻ

െ
𝑥ଶ െ 4𝑥 ൅ 4

ሺ𝑥 ൅ 1ሻሺ𝑥 ൅ 3ሻሺ𝑥 െ 2ሻ
 

ൌ
ሺ𝑥ଶ െ 1ሻ െ ሺ𝑥ଶ െ 4𝑥 ൅ 4ሻ
ሺ𝑥 ൅ 3ሻሺ𝑥 െ 2ሻሺ𝑥 ൅ 1ሻ

 

ൌ
𝑥ଶ െ 1 െ 𝑥ଶ ൅ 4𝑥 െ 4
ሺ𝑥 ൅ 3ሻሺ𝑥 െ 2ሻሺ𝑥 ൅ 1ሻ

 

ൌ
4𝑥 െ 5

ሺ𝑥 ൅ 3ሻሺ𝑥 െ 2ሻሺ𝑥 ൅ 1ሻ
 

ൌ
2𝑥 ൅ 4 𝑥ൗ

𝑥ଶ െ 4 𝑥ൗ
 

ൌ
2ሺ𝑥 ൅ 2ሻ

𝑥
ൈ

𝑥
ሺ𝑥 ൅ 2ሻሺ𝑥 െ 2ሻ

 

ൌ
2ሺ𝑥 ൅ 2ሻ

1
ൈ

1
ሺ𝑥 ൅ 2ሻሺ𝑥 െ 2ሻ

 

ൌ
2
1
ൈ

1
𝑥 െ 2

 

ൌ
2

𝑥 െ 2
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g. 6𝑥
2𝑥 ൅ 6

ൊ
4𝑥ଶ

5𝑥 ൅ 15
െ
𝑥
2
 

ൌ
6𝑥

2𝑥 ൅ 6
ൈ
5𝑥 ൅ 15
4𝑥ଶ

െ
𝑥
2
 

ൌ
6𝑥

2ሺ𝑥 ൅ 3ሻ
ൈ
5ሺ𝑥 ൅ 3ሻ

4𝑥ଶ
െ
𝑥
2
 

ൌ
6𝑥
2
ൈ

5
4𝑥ଶ

െ
𝑥
2
 

ൌ
3𝑥
1
ൈ

5
4𝑥ଶ

െ
𝑥
2
 

ൌ
3
1
ൈ
5
4𝑥

െ
𝑥
2
 

ൌ
15
4𝑥

െ
𝑥
2
 

ൌ
15
4𝑥

െ
2𝑥ଶ

4𝑥
 

ൌ
15 െ 2𝑥ଶ

4𝑥
 

  Non‐Permissible Values: 

2𝑥 ൅ 6 ് 0 
2𝑥 ് െ6 
𝑥 ് െ3 

5𝑥 ൅ 15 ് 0 
5𝑥 ് െ15 
𝑥 ് െ3 

4𝑥ଶ ് 0 
𝑥ଶ ് 0 
𝑥 ് 0 

 

 

 

 


